### Jammu & Kashmir

## OFFICE OF THE EXECUTIVE ENGINEER PHE DIVISION SOPORE

M/s Hilal Ahmad Dar

S/o: Ab. Ahad Dar

R/o: Sidiq Colony Sopore

Reg. No.: 973/AYY(Civil/Sanitary)/CE/KCC/PDC/2009-10

Phone No: 9541082390 Position of AAA: Accorded Position of T.S: Accorded

Advt. Cost: Rs.54.32 lacs Allott. Cost: Rs.55.41 lacs

Time of Complt.: 60 days

Subject: -

Retrofitting Retrofitting of W.S. Scheme Tujar by way of laying & fittings of various dia pipes, Construction of Pump house, Collection Chamber, Lavatory block & allied works under JJM (Tender Id: 2022\_ PHE\_192737\_5).

Ref:

1. Your on-line tender received in response to this office E-NIT No:

33/JJM/JSDS of 02/2023 dated: 06-02-2023 S.No: 05

2. Superintending Engineer Hyd. Circle Sepore's Authorization issued

vide No: SE/Hyd./DB/16382-94 dated: 25-03-2023

For and on behalf of Lt. Governor of Jammu and Kashmir Union Territory, contract for the work mentioned above is here by fixed with you on the following negotiated rates, terms and conditions.

101101	Wing 1139 -				
Α	Rates:	Unit	Quantity	Allotted	Amount in Rs.
S.	Particulars of items	l		Rate	
No	Earth work in excavation by manual means over	cum	77.29	539.35	41686.63
1	areas (exceeding 30cm and upito 1.64m) depth, 1.5mtr in width as well as 10 sqm on depth, 1.5mtr in width as well as 10 sqm on			0 /	<i>₽ 2</i>
	50m from cutting edge disposal cardi to levelled and neatly dressed. All kinds of soil	cum	734.29	436.00	320148.70
2	areas (exceeding 30cm and upto 1.5mt and depth, 1.5mtr in width as well as 10 sqm on depth, 1.5mtr in width as well as 10 sqm on				
	plan) including disposar of executation.  Im from cutting edge disposal earth to be levelled and neatly dressed. All kinds of soil  Earth work in excavation by manual means over	l	1097.78	646.05	709223.35
3	areas (exceeding 30cm and upito Fisher in depth, 1.5mtr in width as well as 10 sqm on plan) including disposal of excavated earth upto				
	levelled and neatly dressed. All kinds of soil				

I Officer

### Page 2<sup>nd</sup> W.S.Scheme Tujar JJM

S.	Particulars of Items	Unit	Quantity	Allotted Rate	Amount in Rs.
No	Laying and fitting of G.l pipes complete	m	3500.00	58.30	204050.00
4	Laying and fitting of G.I pipes complete including pipe fittings etc. 50mm			71.501	109240.00
5	laying and fitting of G. pipes complete	mL	2000.00	54.62	109240.00
	including pipe fittings (external works) 40mm	422	1000.00	39.10/	39100.00
6	Laying and fitting of G.I pipes complete	$^{\rm m}\ell$	1000.00		
	including pipe fittingsetc. ( external works)				10110 00
	25mm Laying and fitting of G.I pipes complete	m /	1500.00	26.76	40140.00
7	Laying and fitting of G.1 pipes complete including pipe fittings etc. (external works)	^			
	20mm		1504.00	25.40	38709.60
8	Laving and fitting of G.I pipes complete	m	1524.00	25.10	
	including pipe fittings etc. (external works)	_			
	15mm	m /	220.00 0	2100.000	462000.00
9	P/F of 10mm thick MS Flanges to 125mm Dia Gl Pipe at necessary Spots Including cost of	- L	_		
	flanges, nuts, bolts, washer, welding charges,				
	- atting of three ded portion all SOLLS of Callinges				
	and including the deduction of cost of the				
	threaded portion and excluding laying of pipe in				
	-ing trapphase 125mm dia	m (	60.00	900.00	54000.00
10	Providing and fixing of 10m thick MS flanges to Gi pipes incl cutting of pipes, incl c/o flanges,	X	•		
	nuts, bolts, RI cloh and all sorts of carriage of	,	,		
	nings complete job 65mm		1 210 00	180.00	37800.00
11	Manufacturing providing and labrication of	kgs	210.00	180.00	3.33
	MOJOI band TRES as per various gound				
	profile pipe specials at site made out of GI/MS				
	pipe incl c/o pipe, flanges, nuts, bolts, RI cloth and all sorts of carriage upto site of work				
	-1-to job 20mm			100.70	327194.52
12	pili avoilable excavated earth (excluding rock)	cum	1646.68	198.70	327171.02
12	in trenches plinth, sides of loundations etc. In				
	not exceeding 20 CIII III ucpui				
	consolidating each deposited layer by ramming and watering, lead upto 50 m and lift upto 1.5				
				2500.00	104000.00
13	m.  Providing, laying and fixing /jointing (rich mix	m	41.60	2500.00	104000.00
10	af onun nine NP3 IVDC illiciuding	ζ			
	a through exceptation of frenches as specified to	,			
	withstand the traffic load including sand coushioning by 2nd class sand and cost of pipe	4			
	m : Limply doe off corts of carriage upto site of	1			
	work complete job (TO BE UTILISED AS	3			
	orerves)300mm		51.00	3500.00	178500.00
1	1. Providing laying and fixing Jointing (rich iii	x m	51.00	0000.00	1,0000.09
	concrete) of spun pipe NP3 type includin earthwork excavation of trenches as specified t	8			
	with stand the traffic load including said	u			
	coughing by 2nd class sand and cost of pipe	·			
	The job includes all sorts of carriage upto site of	)1			
	work complete job (TO BE UTILISED A	0			
	SLEEVES) 400 mm				04

Technical Officer

Page 3rd

	W.S.Scheme Tu	jar JJ	IM	Allotted	Amount in
	Particulars of Items	Unit	Quantity	1	Rs.
5.	Particulars of items			Rate	29981.25
lo	i i lingon branch	each	45.00 /	666.25	2,502.
15	Making connections of GI distribution branch	1			
	Making connections of Grand distributions and with Gl mains of following size by providing and with Gl mains of following size by providing and threading the				
	fixing tee, including cutting and on		1	1268.75	31718.75
	pipe etc. complete 25-40	each	25.00	1200.70	
16	Making connections of the distributions and				
10	Making connections of Grand distributed with Gl mains of following size by providing and with Gl mains of following and threrading the				the second secon
	fixing tee, including cutting and	/	420.75	750.00	315562.50
	pipe etc. complete 50 80 Supply, stacking, laying, filling & spreading of Supply, stacking, laying, filling watering,	cum	420.73	, , , , ,	
17	Supply, stacking, laying, minig				
	good carth in hayers incld all leads, lifts				
	compaction by road roller meta, and all sorts of carriages upto site of work			0	47253.02
	and all sorts of carrages of		14.04	3365.60	47253.04
	complete job  Cutting of road and making good the same incl	cum	Τ		19521.76
18	Cutting of road and making seed all aggregates required to complete the job		23.91	816.40	19521.70
	all aggregates required to complete early and laying stone soling hand packed	cum	2017	1	39142.6
19	Providing and laying over	011123	8.05	4861.84	39142.0
	on level Providing and laying in position cement	cum	0.55		
20	Providing and laying in position concrete of specified grade including curing but concrete of specified grade including and shuttering.				
	concrete of specified grade including each grade including the cost of centring and shuttering. excluding the cost of centring with: 1:4:8 (I cement				
	excluding the cost of centring and service and the excluding the cost of centring and service and the excluding the cost of centring and service and the excluding the cost of centring and service and the excluding the cost of centring and service and the excluding the cost of centring and service and the excluding the cost of centring and service and the excluding the cost of centring and service and the excluding the cost of centring and service and the excluding the cost of centring and service and the excluding the cost of centring and service and the excluding the cost of centring and service and the excluding the cost of centring and service and the excluding the cost of centring and service and the excluding the excluding the cost of centring and service and the excluding the cost of centring and the excluding the excluding the cost of centring and the excluding the cost of centring and the excluding the cost of centring and the excluding the cost of centring the cost of cent				
	All work upto plinth level with 1.116 (1.16) 1.16 (1.1		٨		13413.0
	mm nominal size)	cum	1.92	6978.68	10 (10)
0.1	mm nominal size)  Providing and laying in position specified grade				
21	Providing and laying in position specifical of reinforced cement concrete including curing of reinforced cement concrete including curing of centering, shuttering	>			
	of reinforced cement concrete including but excluding the cost of centering, shuttering but excluding the cost of centering, shuttering	,			
	but excluding the cost of centering, works upto finishing and reinforcement. All works upto	1		/	
	finishing and reinforcement: 7th plinth level. 1:2:4 (1 cement : 2 coarse sand : 4 plinth level. 1:2:4 (1 cement : 20 mm nominal size)		(	0.400.14	27095.
	plinth level. 1:2:4 (1 center): 2 graded stone aggregate 20 mm nominal size) graded stone aggregate work in walls (any	y cun	2.88	9408.14	2.0
22	Deinforced cement concrete work	ś.			
22	thickness) including according fillets	5,,			
	thickness) including attached particles buttresses, plinth and string courses, fillets buttresses, posts and abutments, posts and	d		4	
	columns, pillars, piers, a buding curing bu	it			
	struts upto 11001 live level abuttering finishin	g			
	excluding cost of contents (1)	/2			
	and reinforcement. 1.172.0 (1 arregate 20 mr	n	,	1	L
	coarse sand: 3 graded store		12.69	9849.35	134689
	nominal size)	s, cu	m 13.68	9019.00	
23	Reinforced cement controls alone upto 15	,			
	suspended floors, foots having chajias, lintel	s,			
	landings, balconics, sherros, and spir	al			
	bands, plain window sills, staircases and sp stair cases upto five level including curing by cost of centrin	ut			
	stair cases upto five level has a centrin excluding the cost of centrin	g,			
	excluding the conforcement wit	h.			
		ed	1 1	1	
	stone aggregate 20 mm nominal size)		g 1742.8	6 87.18	151934
	stone aggregate 20 mm nominal only  Steel reinforcement for R.C.C. work including placing	ng   k	g   1742.8		
2					
		VETI)			
	position and binding an level Thermo-Mechanically Treated bars	-/-			
	level hermo meetaa	/\			407
	( 0 )	<i>(</i> , )			
	\ \http://	ka Dffi	0.00		Exen
	Techyl	THE POST	⊌C i		

# Page 4<sup>th</sup> W.S.Scheme Tujar JJM

					Amount in
	Particulars of Items	Unit	Quantity	Allotted Rate	Amount in Rs.
•		1	3.60	262.30	944.28
o	Centering and shuttering including strutting,	sm	3.60	202.00	
5	Centering and shuttering including work for: propping etc. and removal of form work for:		1	1	
	propping etc. and removal or columns	1	61.50	573.85	35291.78
	Foundations, 100tings, bases including strutting,	sni	61.50		
26	Centering and shuttering med form work for:				
	propping etc. and removal of form  Retaining walls, return walls, walls (any Retaining attached pilasters				
	Retaining walls, return the pilasters				/
	thickness) including attached phasters			l	7.570.10
	thickness) including attached photostatic		103.32	635.60	65670.19
	kerbs and steps cit.	sm	103.32		
27	Centering and shuttering more work for:				0
21	propping etc. and removal of londings, balconies			R	712.62
	Suspended 110018, 10018,		33.36	286.05	9542.63
	and access platforms.	sm	33.30		201.04
28	12mm Cement plaster of ma. 1		92.28	133.30	12301.24
20	4 fine sand)	Kg,	92.20		
29	Steel work welded in built up sections/framed including cutting, hoisting, fixing in position and including cutting, coat of approved steel primer	~			
	including cutting, more and expel nrimer				
	applying a priming coat of approved steel primary applying a priming coat of approved steel primary using structural steel etc. as required. In gratings, using structural steel etc. as required. In gratings, brackets, gates			1	-
	using structural steel etc. as required. In grands using structural steel etc. as required. In grands frames, guard bar, ladder, railings, brackets, gates	1	1	24000.00	72000.00
	and similar works.	Job	3.00	24000.00	
20	and similar works.  Providing and fixing of double flanged C.1 Sluice Providing and fixing of double flanged C.1 Sluice	1			<i>y</i>
30	Providing and fixing of double flanged or valve of standard quality ISI mark reputed valve of standard cost of flanges nuts	,			
	valve of standard quality is marke, havey duty incld. cost of flanges nuts make, havey duty incld. cost of flanges nuts			1	e
		1		32000.00	96000.00
	Job. 100mm incld. all carriages  Job. 100mm incld. all carriages	Job	3.00	32000.00	, *
31	Job. 100mm incld. all carriages  Providing and fixing of double flanged C.I Sluice  Providing and fixing of double flanged C.I Sluice	1			
31	valve of standard quality of flanges nuts	5,			
	valve of standard quality (5) mark of make, havey duty incld. cost of flanges nuts make, havey duty and all other fittings complet	e		1	-
	holts tail pieces and an or		0.00	41000.00	82000.0
	Job. 125mm Inclu. an on the flanged C. I Sluice	e Jor	2.00	41000.00	
32	Providing and lixing of dods.	d			
32	valve of standard quality and of flanges nut	3,			
	valve of standard quality ISI mark reputative of standard quality ISI mark reputative make, havey duty incld. cost of flanges nutative and all other fittings complete	.e	,	1	1
	bolts tail pieces and an	1		5500.00	38500.0
	Job. 150mm inclu. an out of the valve /NRV I	SI + Jo	b 7.00	0000	
3	2 Providing and lixing of an puts holls	₹1			
	marked including of unrate of carriage up	to			
		ir		2	
	site of work complete y	~	2 00	10000.00	20000.0
	Valve  Valve  Providing and fixing of air valve /NRV language in the providing and fixing of air valve /NRV language in the providing and fixing of air valve /NRV language in the providing and fixing of air valve /NRV language in the providing and fixing of air valve /NRV language in the providing and fixing of air valve /NRV language in the providing and fixing of air valve /NRV language in the providing and fixing of air valve /NRV language in the providing and fixing of air valve /NRV language in the providing and fixing of air valve /NRV language in the providing and fixing of air valve /NRV language in the providing and fixing of air valve /NRV language in the providing area.	SI Jo	2.00		
	Providing and fixing of all valve, holts, marked including c/o flanges, nuts, bolts, marked including c/o flanges in an and all sorts of carriage up	KI			
	marked including c/o flanges, fluts, for cloth, tail pieces and all sorts of carriage up cloth, tail pieces and all sorts of carriage up cloth, tail pieces and all sorts of carriage up cloth.	010			/
	cloth, tail pieces and all sorts of earling site of work complete job. 100mm NRV inc	JCI.	1 1	~	50000.0
	Site of work company		ob 4.00	13000.00	52000.0
	all carriages  35 Providing and fixing of air valve /NRV	121 36	,,,,,,		
	Providing and fixing of all valve pholis marked including c/o flanges ,nuts ,bolts	121,			
	marked including c/o hanges, interpretable cloth, tail pieces and all sorts of carriage up cloth, tail pieces and all sorts of carriage up cloth.	16			
1	cloth, tail pieces and all sorts of carriags site of work complete job. 125mm NRV inc	.101.			
1		1	AND DESCRIPTION OF THE PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN		

Technica Officer

### Page 5<sup>th</sup> W.S.Scheme Tujar JJM

Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end) (65mm)  Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end) 50mm  Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end) 40mm  Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end) 40mm  Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end) 25mm  Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with:1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 40 mm nominal size)  Providing and fixing gun metal gate valve with Job 15.00 543.85  Cum 30.28 6465.19 1957  Cum 36.73 6802.12 2496	75.40 75.40 13.75 147.00
Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end) (65mm)  Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end) 50mm  Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end) 40mm  Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end) 40mm  Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end) 25mm  Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with: 1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 40 mm nominal size)  Cum 36.73 6802.12 2496	13.75
Providing and fixing gun metal gate valve with (65mm)  70 Providing and fixing gun metal gate valve with (2.1. wheel of approved quality (screwed end) (50mm)  71 Providing and fixing gun metal gate valve with (2.1. wheel of approved quality (screwed end) (40mm)  72 Providing and fixing gun metal gate valve with (2.1. wheel of approved quality (screwed end) (40mm)  73 Providing and fixing gun metal gate valve with (2.1. wheel of approved quality (screwed end) (25mm)  74 Providing and fixing gun metal gate valve with (2.1. wheel of approved quality (screwed end) (25mm)  75 Providing and laying in position cement (25mm)  76 Cum (30.28) 6465.19  77 Cum (30.28) 6465.19  78 Providing and laying in position cement (25mm) (25mm)  78 Providing and laying in position cement (25mm) (25m	)47.00 157.75
C.I. wheel of approved quality (screwed end) Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end) Froviding and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end) A0mm  Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end) Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end) Eventually the concrete of approved quality (screwed end) Eventually the concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with:1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 40 mm nominal size)  C.I. wheel of approved quality (screwed end) C.I. wheel of approved quality (screwed end) Eventually the coarse sand: 4 graded stone aggregate 40 mm nominal size)  Cum  30.28  6465.19  1957  Cum  36.73  6802.12	)47.00 157.75
Providing and fixing gun metal gate valve with C.l. wheel of approved quality (screwed end) 50mm  Providing and fixing gun metal gate valve with C.l. wheel of approved quality (screwed end) 40mm  Providing and fixing gun metal gate valve with C.l. wheel of approved quality (screwed end) 25mm  Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with:1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 40 mm nominal size)  Cum 36.73 6802.12 2496	)47.00 157.75
Providing and fixing gun metal gate valve with C.1. wheel of approved quality (screwed end) 50mm  Respectively.  Providing and fixing gun metal gate valve with C.1. wheel of approved quality (screwed end) 40mm  Providing and fixing gun metal gate valve with C.1. wheel of approved quality (screwed end) C.1. wheel of approved quality (screwed end) 25mm  Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with:1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 40 mm nominal size)  Cum 30.28  Cum 30.28  6465.19  1957  Cum 30.28  Cum 30.28  6465.19	157,75
C.1. wheel of approved quality (screwed 50mm)  Providing and fixing gun metal gate valve with C.1. wheel of approved quality (screwed end) 40mm  Providing and fixing gun metal gate valve with C.1. wheel of approved quality (screwed end) 25mm  Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with:1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 40 mm nominal size)  C.1. wheel of approved quality (screwed end)  Job 15.00 543.85 81  Cum 30.28 6465.19 1957  Cum 36.73 6802.12 2496	157,75
Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end) 40mm  Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end) 25mm  Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with:1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 40 mm nominal size)  Some Stone aggregate 40 mm nominal size)  10.00  1	157,75
Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end) 40mm  Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end) 25mm  Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with:1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 40 mm nominal size)  Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with:1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 40 mm nominal size)  Cum 36.73  6802.12  2496	
C.I. wheel of approved quanty (served) 40mm  Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end) 25mm  Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and but excluding the cost of centring and shuttering. All work upto plinth level with:1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 40 mm nominal size)  Cum 30.28  6465.19  1957  Cum 36.73  6802.12	
Providing and fixing gun metal gate valve with C.l. wheel of approved quality (screwed end) 25mm  Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with:1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 40 mm nominal size)  15.00  Cum 30.28  6465.19  2496	
Providing and fixing guit metal gas and lixing guit gas and lixing guit gas and lixing guit metal gas and lixing guit gas and lixing guit gas and lixing guit gas and lixing g	771.13
C.l. wheel of approved quality (25mm)  25mm  40 Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with:1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 40 mm nominal size)  Stone aggregate 40 mm nominal size)  Cum  30.28  6465.19  1957	771.13
25mm  40 Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with:1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 40 mm nominal size)  50.26  6802.12	
concrete of specified grade to the control of centring and but excluding the cost of centring and shuttering. All work upto plinth level with:1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 40 mm nominal size)  Stone aggregate 40 mm nominal size)  2498	
but excluding the Cost shuttering. All work upto plinth level with:1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 40 mm nominal size) stone aggregate 40 mm nominal size) 2498	
shuttering. All work upto with: 1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 40 mm nominal size) stone aggregate 40 mm nominal size) 36.73 6802.12 2498	
with:1:2:4 (1 cement : 2 coarse sand : 4 grades stone aggregate 40 mm nominal size) stone aggregate 40 mm nominal size) 2498	
stone aggregate 40 mm normal burnt clay F.P.S   Cum   30.72	855 20
Stone 455-3	
41 Brick work with common out to all Brick work with a second out to a	
Brick work with common burne one (non-modular) bricks of class designation 75 in (non-modular) bricks in Cement mortar 1:6	1
foundation and piliti in contract 39	487.07
mix (1 cement: 6 Coarse sand)	
42 Extra for brick work in Javel (by manual level) 555 500 14	1433.5
plinth level upto floor V level. (by manual level) plinth level upto floor V level. (by manual level) SM 25.98  555.50  43 Cement concrete flooring 1:2:4 (Icement: 2 43 Representation of the stone aggregate)	
Cement concrete flooring 1.2. (coarse sand: 4 graded stone aggregate) coarse sand: 4 graded stone aggregate)	
coarse sand: 4 graded stone age of finished with a floating coat of neat cement finished with a floating complete,	
finished with a floating coat of float including cement slurry and curing complete, including cement slurry and curing of steps etc.	
including cement slurry and curing only but excluding the cost of nosing of steps etc. but excluding the cost of nosing of steps etc.	1
amplete 50 mm unick with 200	2689.3
size stone aggregate.	2009.0
44 Providing and fixing 1st quality (Claims 9)	
tiles conforming to 13. The approved make,	
specified by the manufacturer), of approved in all colours, shades except burgundy, bottle green, in all colours, shades except by Engineer- in-	
in all colours, shades except burgandy, sold black of any size as approved by Engineer- in- black of any size as approved by Engineer- in-	
black of any size as approved by language black of a size as a	
12 mm thick bed of cement the grey cement slurry	
3 coarse sand) and jointing with grey terms  (a) 3.3 kg per sqm, including pointing in white  (a) 3.3 kg per sqm, including pointing shade	
mived WIII Digition of	7891.8
	7891.0
tiles conforming tols 13022 (make in	
thick bed of cement Mortal 1.3 (February & 3.3kg)	
including nounting in winter contract	
with pigment of matching shade complete.	

chnical Officer

#### Page 6th W.S.Scheme Tujar JJM

A	Particulars of Items	Unit	Quantity	Allotted Rate	Amount in Rs.
0	The state of the s	sm	166.68	330.49	55086.40
46	15mm thick cement plaster finished without	3111			
	floating coat of neat cement of mix 1: 4 mix on	,	-	1	32395.50
	rough side of single or half brick wall.	Cum	0.70	46000.00	32395.50
17	Providing wood work in frames door windows				1
	etc. and fixed in position with hold fast lugs of	0	r		36972.85
	required dia and length KD	sm	13.28	2784.10	30972.00
18	Providing and fixing Panelled glazed shutters	-9			
	for door windows using 1mm thick glass panes				
	including MS pressed butt hinges bright			,	1
	finished off required size with necessary		L_	2966.25	29810.81
	screws kail wood	sm	10.05	2966.23	27.0
19	Providing and fixing 30mm thick wire gauze shatters using galvanized MS wire gauze of shatters using galvanized MS wire both				
	average width for aperture 1.4mm in both				
	directions with wore of dia 0.63mm for doors				
	-t- with hinges and necessary				
	TOT and MS DECSSELL DITEIL III			-	
	butt hinges with necessary screws of required	,		1.	L
	·		160.80	149.05	23967.24
=0	size Distempsring with oil bound washable	sm			-
50	Distempsing the brond and manufacture	sm	12.47	113.75	1418.46
1		sm	12.47		
51	and an of annihity of brand				
	a de mood work mand and				
	wood) & Painting with on type was				/
	of approved Drailu and	1	1	1	
	Now work him of more coats)	no	1.00	3193.15	3193.15
52	I france et ain less siect A for our	110	1.00		
52	The second street is a second of the last 10000 with the				
	1 stoin loce sieel Dille Tullin Hora.				
	c citings and brackers culture and				
	the walls wherever regarden	L	V		
	1 doubth 1 /8mm IIII.III. IIAuuroo.		24.00	113.80	2731.20
53	1 1 10 10 10 10 10 10 10 10 10 10 10 10	110			
	1 fine to trame will lumin did boiles,				
	1 Jon white and childchies in	1			
	cement concreate block 30x10x13 cm (1.5) mix	1		-	
	100		10.00	52.30	523.00
54	Providing and fixing aluminum handles ISI				
	marked anodized (anodic coating not less than				
	grade AC 10 as per IS: 1868) transparent or				
	dyed to required colour and shade with	1	- 2		
	necessary screws etc. complete. 100mm	Job	20.00	57.35	1147.00
55	Providing and fixing aluminum tower bolts ISI				
	marked anodized (anodic coating not less than	,			
	grade AC 10 as per IS: 1868) transparent or				
	dyed to required colour or shade with				
	necessary screws etc. complete: 100mm		•		

### Page 7<sup>th</sup> W.S.Scheme Tujar JJM

Particulars of Items	Unit	Quantity	Allotted	Amount in Rs.
Particulars of items	,		Rate	1000.00
	Job	1.00	4000.00	4000.00
P/F of PVC pipes, vent etc with PVC bends,	000			
P/F of PVC pipes, vent etc with TVC parter traps etc complete job as per the requirement at		1	-	
traps etc out i	_ <	1.00	1800.00	1800.00
site Providing anf Fixing Sliding door bolts heavy	ltr	1.00	1	e
	ltr	500.00	13.00	6500.00
duty Providing and placing on terrace (at all floor	ltr	500.00		
1 1 could could and suitable form of				
arrangement and making necessary holes for				
arrangement and making necessary inlet, outlet and overflow pipes with fittings and		-	1	e
inlet, outlet and overnow pipes with many	1	L	3238.20	12376.4
the base support for tank the base support for tank the base support for tank	sm	3.82	3230.20	
1 Garage Politing Structure				
and jointed together at the end by end locks and jointed together at the end by end locks				
and jointed together at the chiral special and jointed on specially designed pipe shaft with mounted on specially designed pipe shaft with				
mounted on specially designed paper brackets, side guides and arrangements for brackets, side guides and arrangements for				
brackets, side guides and arrangements inside and outside locking with push and pull inside and outside locking the cost of				
operation complete including the cost of operation complete including the cost				
operation complete including the providing and fixing necessary 27.50cm long providing and fixing necessary from high tensile				
providing and fixing necessary 27 to be providing and fixing necessary 27 to be wire springs manufacture from high tensile wire springs manufacture from high tensile wire springs to IS				
wire springs manufacture from this steel wire of adequate strength confirming to IS steel wire of adequate strength cover of required				
steel wire of adequate strength community 4454 part 1 and M.S top cover of required 4454 part 1 and M.S top cover of required 80x1.25mm M.S				
1 . · 1 tor rolling structure	L	1	e	966.
laths with 1.25mm thick top cover	each	2.00	483.10	900.
Providing and fixing ball bearing for rolling	each	1	1	7060
Providing and image		3303.08	102.14	337360.
shutters Structural steel work in built up section fixed	kg	3303.00		
Structural steel work in built up according for trusses without connecting plate including for trusses without connecting plate including				
for trusses without control position and applying				
for trusses without connecting plate of cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all				-
a priming coat of approved			830.25	85035.
- nlote	sm	102.42	030.23	
Providing corrugated d.s should with including vertical/curved surface fixed with				
leaning of sheets complete (a) to any i				
to the transfer of Curvey				
the cost of purious, faiters and				
1 in abuding culting to Size and shape				
wherever required. 0.50mm thick with zinc		,	K	
1	L			17190
The state and fixing at SIIC Daves Domining of	m	34.38	500.00	
200mm wide coloured including cost of				
holders, angle supports complete job				
	1	1	The second section is not been as the second section of the second section is not been as the section is not b	

Technical Officer

### Page 8<sup>th</sup> W.S.Scheme Tujar JJM

Particulars of Items	Unit	Quantity	Allotted Rate	Amount in Rs.
	(	21.50	626.70	13474.05
idean or hips of width 60cm over all	m	21.50	020.10	
Providing ridges or hips of width 60cm over all width plain G.S sheets with polymer coated J width plain G.I limpet				
width plain G.S sheets with polymer care or L hooks, bolts and nuts 80mm dia G.I limpet or L hooks, bolts are complete job				1
The Bolls and Hills Over the Committee of the Committee o	1	-		47202.75
or L hooks, botts the samplete job and bitumen washers complete job	cum	18.90	2497.50	47202.70
	Cum			
Dry random rubble masonry with has foundation and plinth: using quarry stone with		1	~	1060.60
	1	2.00	5534.80	11069.60
bond stone Providing and fixing water closet squatting pan	110	2.00	<b>V</b>	
Providing and fixing water close expansion of the line				
(Indian type W.C pan) with roomin same				
(Indian type W.C pan) with rooming iron P or S trap, 10 litre low level PVC flushing iron P or S trap, 10 litre low level PVC flushing				
iron P or S trap, 10 http://www.texes.proved make) cistern including flush pipe (of approved make)				
with manually controlled device (handle lever)		,		
with manually controlled device manually conforming to IS: 7231, with all fittings and conforming to IS: including cutting and making				
fixtures compelte including cutting and making				
fixtures compete metalogs wherever required.				9
fixtures compelte including cutting and fixed good the walls and floors wherever required. White vitreous china orrisa pattern W.C Pan of White vitreous china orrisa pattern type foot rests	1	/	1	100
White vitreous china offisa pace.		6.00	436.50	2619.0
size 580x440 mm with intergal type to bore C.P.	No	6.00	100.00	
size 580x440 mm with intergal GPC to Providing & fixing 15 mm nominal bore C.P Providing to braces hip cock of approved				e
Providing & fixing 15 min homman approved brass Bib cock brass bib cock of approved	1		100.00	2560.8
mulity c 100 mm	m	21.34	120.00	1
quality  Providing and laying of PVC pipes of 100 mm  grade as directed by site Engineer		1	1	4880.0
Providing and laying of PVC pipes of Engineer dia of prince made as directed by site Engineer dia of prince made as directed by site Engineer dia of PVC pipes of 80 mm dia	1	48.80	100.00	
dia of prince made as directed by site 1-3  Providing and laying of PVC pipes of 80 mm dia  Providing and laying of PVC pipes of 80 mm dia	m	10.00	-	25597.3
Providing and laying of PVC pipes of of prince made as directed by site Engineer of prince made as directed by site Engineer	- l m	74.40	344.05	25597.3
of prince made as directed by site Engage  Providing and fixing of GI pipes complete job as  Providing and Fraginger 15mm dia.	m	74.40		2
	-		2769.20	5538.4
Providing and fixing of the part dia. directed by site Engineer 15mm dia.	no	2.00	2709.20	
directed by site Engineer 13mm and 1 Providing and fixing wash basin C.I brackets, 2 providing and fixing wash basin C.P brass			,	
Providinbg and fixing wash bash C.P brass 15mm C.P brass pillar taps 32mm C.P brass pillar taps 32mm c.P brass pattern including painting of				
15mm C.P brass pillar taps 32mm on 15mm C.P brass pillar taps 32mm on waste of standard pattern, including painting of waste of standard pattern, including pattern, inc				
waste of standard pattern, including pattern fittings and brackets cutting and making the fittings and brackets cutting are making the fittings.				
fittings and brackets cutting and industry good of walls wherever required: White Vitreous good of walls wherever basin size 450x300mm				
good of walls wherever by				
China Flat back wash back pillar tap	e_	1000.00	13.00	13000.
with single 15 min C.1 Many terrace (at all floor	litr	1000.00	10.00	
Providing and placing on terrace tank ISI:				
Providing and placing of terrace (ank ISI : levels) polyethylene water storage tank ISI :				
levels) polyethylene water storage 12701 marked, with cover and suitable locking necessary holes for				0
12701 marked, with cover and sales for arrangement and making necessary holes for arrangement and making necessary holes for			1	
inlet outlet and overnow pipes was	L	1	L	4200.
the base support for tank	no	6.00	700.00	4200.
and fiving of 13 mm	no			
		4,00	800.00	3200.
complete Job  74 Providing and fixing 15 mm nominal bore Steel		4,00	000.00	
Providing and fixing 13 mm normal providing and fixing 13 mm normal providing and geyser points of angle valve for basin mixer and geyser points of angle valve for basin mixer and geyser points of			1	1
angle valve for pasin infect and 8 / 8931	1	~		1140.
make conforming to ib.	по	4.00	285,00	11.00
75 Providing and fixing of Soap Holder		The second secon		

Vec inical Officer

#### Page 9th W.S.Scheme Tujar JJM

/	Particulars of Items	Unit	Quantity	Allotted Rate	Amount in Rs.
777 788 99 300 311	Carriage of pipes by Mechanical transport from source to actual site of work including loading, unloading and stacking of material: i) Pipes for avg. lead 12km ii) Cement &Steel for avg. lead 5km iii) Stone size aggregate—for avg. lead 20km iv) Stone size aggregate 40mm—for avg. lead 20km v) Sand for avg. lead 25km vi) Stone soiling—for avg. lead 12km vii) Bricks—for avg. lead 75km	MT MT cum cum cum cum	49.49 L 7.16 L	402.29/ 437.29/ 451.97/ 358.97/	7167.20 4592.92 19909.33 3131.00 16813.28 15367.51 44140.91
33 84	Headload of different material from road site upto actual site by 400 may glead	MT	3.13	576.30	
85 86	cement / steel from Sand/ stone size aggregate	Cum	1.00		1197.92
87	Stone soiling  Total  Above 2% on all itmes				5432490.00 108650.00 5541140.00
	Allotted Cost				00.1

Rates and quantities checked:

**Braughtsman** 

Officer Technica

#### Terms and conditions: В

- 1. Total amount of the work should in no case exceed beyond Rs.5541140.00 (Rs.Fifty five lacs Forty one thousand One hundred and Forty only which includes all taxes, levies etc applicable as per norms amended by competent authority from time to time.
- 2. The work shall have to be completed by you within a period of 60 days failing which the panality under rules shall be imposed upon you.
- 3. Performance security @ 3% of allotted cost i,e Rs.166234.00 in shape of CDR/BG/FDR shall have be deposited by you in this office within seven days from the date of issue of this allotment from this office failing which action shall be initiated as per SBD of the NIT.

#### Page 10th W.S.Scheme Tujar JJM

An agreement shall have to be drawn by you with the department within a period of 07 days from the date of issuance of allotment, failure to executed such a formal deed shall not however prevent the contract from being enforced upon you. However payment on account of this work shall not be considered in absence of agreement.

- 5. The earnest money amounting to Rs.108640/= deposited by you in this office as a bid security against the contract vide CDR No: 3390990 dated: 20-02-2023 shall be considered for release once the performance security @ 3% of allotted amount is deposited by you.
- 6. The allotted work shall have to be monitored by Third Party Monitoring Agency (WAPCOAS) appointed by the department.
- 7. All other terms and conditions shall remain same as laid down in E-NIT/ Standard bidding document/PWD from No 25 and GFR-2017.

Technical officer

Executive Engineer Jal Shakti PHE Division

#### Copy to the:

Chief Engineer Kashmir Jal Shakti PHE Department Srinagar for favour of information.

District Development Commissioner Baramulla (Chairperon DJJM) for favour of information. i) Superintending Engineer Hydraulic Circle Baramulla/Bandipora (Member Secretary JJM) for favour of information. ii)

iii)

Assistant Executive Engineer PHE Sub Division Sopore for information and necessary action. iv)

M/S WAPCOAS Ltd Corporate office 76-C intuitional area sector 18 Gurgon for information v)

Head Draftsman for information. ví)

File Concerned. vii)